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4.

Hydrochloric acid secrered in the sromach is an imponant faaor in the transformation of
A. pepsin into pepsinogen.

B. pepsinogen into pepsin.

C. proteins into aminoacids.

D. mattose into glucose.

The end product of starch digestion is
A. maltose.
B. maltase.
C. glycerol.

D. glucose.

Plasma and lymph fluids are different in that

A. plasma contains proteins and leucociies. lymph contains er,vthroctres and proteins.

B. plasma contains proieins, water. minerals and nutnents, lymph contains water and hormones.

C. lymph is the intercellular fluid, plasma is the liquid part of the biood.

D. I.vmoh contains only' li"'mphocltes, plasma contains erlthrocles and leucocytes.
Which one of rhe follo*'ing blood transiusions is possible without risk of agglutination?

Donor blood Recipient blood
Sroup Sroup

cow >

Air enters the lungs of a Mammal because

A. it is pushed along the trachea by swallowing.

B. in inspiration the lungs expand forcing the thora.r to expand.

C. in inspiration the pleural pressure falls and lowers the lung pressure.

D. in insorrarion the atmospheric pressure becomes lowcr than the pieural pressure.
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Auestions 6 anC 7 jefer to the foilowing diagram of a jeflex arc in t vadebftta

Numbers VI, VII and Il represent
A. neurones.

B. axons.

C. synapses.

D. dendrites.

7. Axons from motor neurons are represented b)*
A. land Il
B. v.
C. v
D. Ill.
5. progesterone secreted by the corpus luteum inhibits the development of new follicles in the ovarv
by means of a feedback mechanism which
A. inhibits FSH produoion.
B. inhibits the corpus luteum.
C. inhibits the production of prolactin.
D.

results in an increb of oestrogen production.

o.  Implantation of the blastoc)st normally tales place in the
A. epithelium of the uterus.
B. fallopian tube.
C. uterine wall (endometrium,.

D. ovar-v.
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13.

14.

rm ne et
A. posterior lobe of t-re pituitary that stimulares rhc contraction of the uterine musclc.
B. ovary that stimulates rhe production of progestcrone.
C. corpus lutcum that stimulates thc contraction of the uterus.
D. placenta that stimulates the conjracjion of thc ujerine muscle.

A skin ccll of a given spccies has 28 chromosomces in its nucleus- The numbcer of chromosomes in
the nuclcus of a secondary spermarocyte of that specics is

A. 28
B. 14.
C. 13.

D. 27+Y.

Structures present in plant cells but nor in animai cells are
A. li'sosomes and ribosomes.

B. large vacuoles and plastids.

C. cellulose walls and mirochondria.

D. nucleolus and chloroplasrs.

In a cell the most readil_- available energ)' source is
A. glucose.

B. NAD.

C. ATP.

D. 2-oxo-propanoic acid (pyruvic acid).

The ox.,-genation Of blood in the lung alveolus is an example O
A. active ,r"nrpo*.

B. osmosis.

C. diffusion.

D. ultra-filtration.
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15. Enzymcs
A. erc scasitivc to pH.
B. arc dcstroyed by the rceoion they catalyse.
C. incrcase the reaction time.
D. incrcese adivation cnergy.

Auestions IC and 17 afcj to thc following diagnm which rcpresenE a ccllular pioccss in which only
tha initirl and frnal compounds ¢ ic shown.

GLUCOSE
2-OXO-PROPANOIC ACID 2-OXO-PROPANOIC ACID
(pyruvic acid) (pyruvic acid)

t6.  For the process to take place it is necessar-§ t0 have
A. mitochondria.
B. eriizymes and ATP
C. active RNA and enzvmes.
D.

hormones and NAD.

17.  The process is known as
A. Krebs cyclc.
B. calvin cicle.

C. respiradon.

D. sly:lysis.

rt.  Yeast can survive iNFC absence of free or)-gen Uj9"irr. ir respires
A. NOz.
B. anacrobically.
C. cor.

D. without enzymes.
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20.

Which compound is present in DIyA buj nor in R)iA?
A. Adenine
B. Guanine
C. Cytosine

D. Thymine

A codon on m-RNA s representcd by UGC, the clresponding r-RNA anticodon can be

A. UGcC.
B. TCG.
C. ACG.

D. cGu.

Usa thc foltowing informttion to tnswej guestions 2| and ZI.

In some species of Amphipods (Crustacean), the genc foj black eyes. B. is dominant to that rcspons/bl.
for rcd ayes, b.

Ir.

If a male homozygous for black eyes is crossed *irh ared eyed female, the genotype of the offspring
for e--e colour Will be

A. BB.
B. bb.
C. Bb.
D. BBbb.

vihat will pe the percentage of red ej-ed ofispring following a cross between a heterozygous black
eyed male and a red eyed female?

A. 0 olo
B. 500
C. 7500

D. too %
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25.

26.
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Colour blindncss is a sei linked recessive charactcristic. Childjen of a colout blind mothcj and a
normal fathcr would be
A. females normal but carjiers. males normal-
B. females colour blind, males normal.
C. fcmalcs normal, males colour blind.
D. females normal but camen, males colour blind,
In Mamm¢ s adaptivc radiarion is shown by the forclimbs of the bat, the whale and the monkey.
These forelimbs arc exampies Of
A. homology.
B. analogy.
C. coincidencc.

D. use and disuse.

Lamarck's thcory of cvolunon assumcd jhat
A. considcrablc variaiion C:iSS among nc:nbers of a given specics.
B. there always tends to bc a struggle for crisjcnce.

C. evoturionary change could be achiered by thc transmission of chara«ers acquired through the
inffuence of thc cnvironment.

D. organisms gcnerally produce far morc offspring than thc cnvironment can suppon.

Thetcrm'habiiat'describes
A. thc spacc an organism occupies in a jrven environ'ment.
B. a given arca of an ccos)..siem wirh its fauna ,, a

C. the fceding hab'lt of a given species i0 an ccojYstem.

D. a gcographically isolatc«i arca With iS fauna and floja.
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The fotlowing is a graph of a population cune.

The period in which there is a balance between binh rate and death rate in thc population is
AL

B. I

c. lil.

D. v.

Clover (& leguminous plant) grows in soils poor in nirogen. This sratement is only possible because
A. clover does not need nitrogen.

B. its cells are capable of direcr fixajion of atmospheric nitrogen.

C. iis cells are associated with denirrifying bacreria

D. its cells are associajed with nitnfi-ing bacreria-

Difierent communities of organisms which interacr rith onc another and the abiojic factors of jhe
environmen; are described as

A. populations.

B. societies.

C. ecos!'sicms.

D. a climax communitv.
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The following graph shows the variation in mortality index ICurve X) and natality index (Cun,e
Y) in a given human population. Variajion due to migrarion is compensated for.

t920 9.l 1960
In what period has this population shorijj the highest growth?
A. 1920 to 1930
B. 1940 to 1950
C. 1950 to 1960
D

. 1970 to 1980



